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[PROGRAMME]
Generic Elective Course (GE)
Course Code : BCOM-G-GE-T-02
Course Title : Indian Economics
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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any ten questions: 2x10=20
-1 v 2eels T mie ¢
1)  What do you mean by Gender related
Development Index (GDI)?

forst fefe Tzt o <e10e 6 (i 2

i1) Define seasonal unemployment.
T (IR0 e Tl |

i11) Define Marketable Surplus.
f@aIey Tge-7 < 7l |

iv)  What do you mean bydual economy?

7 SL5E] FEI0e < @REe

[Turn Over]

v)  What do you mean by deficit financing?
61 T A 09 S (@e

vi) What do you mean by tied loan?
HEHICAT el 10 6 (0 2

vii) What is globalization?
oI ics et 2

viii) What is the full form of CSO?
CSO-7 373 a1 fh 2

ix) Give two arguments in favour of cooperative

farming in India.
SIACS AN BT A6+ 2/ o Y& wie |

x) Mention two important functions of SEBI.
SEBI-= 7fb wzrge)ef et Crard 4 |

xi) Mention two important functions of World Bank.
el <icz b wrgeld ier Srard 4 |

xii) Mention two purpose of forming IDBI.

IDBI 15t 4o Sy S 4 |
xiil) What do you mean by collective bargaining?

12 vd FIFR 00 F @Ri2
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xiv) What is the full form of NITI? In which year it was
established?
NITI-3 5ol 151 5 2 321 0 7ie Zifore 232
xv) What is Finance Commission?
w1l i 15
Answer any four questions: 5%x4=20
-1 BTG 2eae e mhe:

1)  What are the causes of low marketable surplus in

Indian agriculture?

CIFER PR (F@ K@) TFe T ReAF Fieiefe
fae

ii) Has population growth helped economic
development in India? Discuss.
SIS G % (3 SN SR AR FCACE 2
RIGI PRI

i11) Write a short note on poverty alleviation

programmes in India.

ST W7 G 151 210 1 A<= DA (774 |

iv) Write a short note on Industrial Finance
Corporation of India (IFCI).

©I0eA i S FA TAE 96 AR DIl (#72|

v)  Discuss about the failure of planning in India.

TS AREET LS A 4|
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vi) Discuss the limitations of commercial banking in

India.

©arss felferss = G A S = STl 4 |
Answer any two questions: 10x2=20
@I wfo Aesia e ml

1)  Critically analyse the Public Distribution System

in India.

SIS AN AASIE o9 g 9
FEBARET [ese 9 |
i1) What do you mean by New Agricultural Policy?

Discuss its effects in Indian economy.

TG R (FE 100 6 QI 2 SRS g PR (FIHETH
ZFeTIRpeT SIICEIbA] < |

ii1) Write a short note on GST, explaining its features,

advantages and disadvantages.

GST-51 taf%y, <l @ Pl el wed «bio
<R BRFl (14|

iv) Discuss the structural change in Indian economy

during plan periods.

AfaFEal FieT ol TLAifoq FoNEIsTe Afaas
A 9 |

708/Comm. (4)



